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R2 = 5 J r2 = 3 J m1 = 15 J m2 = 2 J m3 = 24 J
m4 = 10 J S = 156 K
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R1 = 4 J r1 = 2 J R2 = 3 J r2 = 2 J R3 = 5 J r3 = 3 J
m1 = 1 J m2 = 15 J m3 = 10 J m4 = 13 J S = 78 J
α = π/3 K
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R1 = 4 J r1 = 3 J R2 = 4 J r2 = 3 J m1 = 4 J m2 = 10 J
m3 = 16 J m4 = 13 J S = 129 J α = π/3 K
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R1 = 4 J r1 = 3 J R2 = 4 J r2 = 3 J m1 = 35 J m2 = 13 J
m3 = 15 J m4 = 10 J S = 219 J cosα = 0,6 K
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R1 = 4 J r1 = 2 J R2 = 4 J r2 = 3 J m1 = 10 J m2 = 12 J
m3 = 16 J m4 = 10 J S = 96 J cosα = 0,6 K
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R2 = 3 J r2 = 2 J m1 = 15 J m2 = 15 J m3 = 13 J
m4 = 10 J S = 159 J cosα = 0,8 K
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R1 = 3 J r1 = 2 J R2 = 3 J r2 = 2 J m1 = 5 J m2 = 13 J
m3 = 13 J m4 = 10 J S = 82 J α = π/3 K
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R2 = 3 J r2 = 2 J R3 = 4 J r3 = 2 J m1 = 5 J m2 = 10 J
m3 = 13 J m4 = 13 J S = 82 J cosα = 0,6 K
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R2 = 5 J r2 = 3 J m1 = 10 J m2 = 15 J m3 = 12 J
m4 = 12 J S = 98 K
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R2 = 4 J r2 = 3 J m1 = 15 J m2 = 14 J m3 = 30 J
m4 = 10 J S = 162 K
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R2 = 3 J r2 = 2 J m1 = 4 J m2 = 12 J m3 = 4 J
m4 = 13 J S = 132 J α = π/3 K
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R1 = 5 J r1 = 3 J R2 = 4 J r2 = 2 J R3 = 5 J r3 = 3 J
m1 = 1 J m2 = 15 J m3 = 10 J m4 = 15 J S = 164 J
α = π/3 K
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R2 = 4 J r2 = 2 J m1 = 5 J m2 = 12 J m3 = 5 J
m4 = 12 J S = 68 J cosα = 0,6 J cos β = 0,8 K
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R2 = 4 J r2 = 2 J m1 = 5 J m2 = 13 J m3 = 13 J
m4 = 12 J S = 86 J cosα = 0,8 K
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R2 = 4 J r2 = 2 J m1 = 10 J m2 = 4 J m3 = 26 J
m4 = 13 J S = 80 K
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R1 = 3 J r1 = 2 J R2 = 3 J r2 = 2 J m1 = 2 J m2 = 10 J
m3 = 9 J m4 = 10 J S = 31 J α = π/3 K
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R2 = 4 J r2 = 3 J m1 = 5 J m2 = 15 J m3 = 3 J
m4 = 13 J S = 144 J cosα = 0,6 K

234353 678 9:c 9 g=E h==S ^ ?oC?<

G
S

	

α

F H

I

R1 = 4 J r1 = 2 J R2 = 3 J r2 = 2 J m1 = 4 J m2 = 12 J
m3 = 3 J m4 = 13 J S = 96 J α = π/3 K
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R2 = 4 J r2 = 2 J m1 = 13 J m2 = 4 J m3 = 24 J
m4 = 13 J S = 126 K

234353 678 9Li 9 p?<CTRS b SC>

G
S�

α

FH

I

R2 = 4 J r2 = 3 J R3 = 4 J r3 = 2 J m1 = 5 J m2 = 13 J
m3 = 15 J m4 = 13 J S = 92 J cosα = 0,8 K
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R1 = 3 J r1 = 2 J R2 = 4 J r2 = 2 J m1 = 50 J m2 = 10 J
m3 = 4 J m4 = 15 J S = 158 J cosα = 0,8 J β = π/3 K


